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2015 MATHEMATICAL METHODS (CAS) SCHOOL-ASSESSED COURSEWORK

Total marks for this task = 40
Note: Student marks must be divided by 4 to give the correct marks for the outcomes.

Allocation of marks for Outcomes
Outcome 1 =10 marks

SECTION A: Multiple-choice questions (1 mark each)

Question 1
Answer: B

Explanation:

225x F_ %
180 4

Question 2

Answer: B

Explanation:
Sketch on CAS and read the maximum value.

Question 3

Answer: A

Explanation:

Period = L 4
1/4

Question 4
Answer: D

Explanation:

tan(260) = — !

ﬁa

cos(20) = —

o5
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Question 5
Answer: A

Explanation:

Solve on CAS over the restricted domain.

Question 6

Answer: D

Explanation:

Period = 2—” =7’
/7

Question 7
Answer: A

Explanation:

Domain is given in the function form and range is all real numbers.

Question 8

Answer: C

Explanation:

x-3
=—=x=7r+3
2 2

Period =2r
Asymptote = +3+2rx

Question 9

Answer: E

Explanation:

2 2
Range =|1——,1+—
¢ { 3 3}

©TSSM 2015

Page 3 of 7



2015 MATHEMATICAL METHODS (CAS) SCHOOL-ASSESSED COURSEWORK

Question 10
Answer: A

Explanation:

Solve on CAS.

Question 11
Answer: D

Explanation:

Period = 5?”

Sz Sz
X=——-—

6 3

Question 12
Answer: B

Explanation:

Solve sin(m)= % for a

Question 13

Answer: C

Explanation:
Find the value on CAS.

Question 14
Answer: D

Explanation:

Period =7

Translation of 1unit down
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Question 15
Answer: B

Explanation:
Putx=0

Question 16
Answer: A

Explanation :

Solve on CAS over restricted domain
Question 17

Answer: D

Explanation:

cos(90° + @) = —sin(@)
sin(@) = —0.2851

Question 18

Answer: C

Explanation :

g(x) =—sin(—x)+2.

Question 19

Answer: A

Explanation:

Define the two functions on CAS and find the composite function.
Question 20

Answer: E

Explanation:
Note that there is no dilation from the x-axis.
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SECTION B- Extended response questions

Question 1
a. x(0)=2m
1 mark
. 27
b. Period = — = 48 seconds
24
2 marks
c. x(4)=2.804m
2 marks
d. x(®)=9, over 0<1r<192
t=13.28,34.72,61.28, 82.72,109.28, 130.72,157.28, 178.72
3 marks
e. M =0.25m/sec
5-0
2 marks
f. Max=14m
1 mark

height (in cm) "72.14)| (120, 14) |

(24,14) | 1  (168,14)

192} : q48'.2):_: (96, 2) ‘; 4402) L L L LS time (in sec)

50 100 150 200

4 marks
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Question 2

2 marks

1 mark

velocity (in m/sec)
40
30
20
10

(0, 0). ==+t ++t+t+++++++++t+++++> time (in sec)
5 6

-10

2 marks
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